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Scientific Proceés Practice

Experiment:

Five tomato plants of the same height were placed in the same size pots, in the same type of soil and each was
given the same amount of water. Each plant was under a light bulb of the same intensity as the others but
each light was of a different color. Each day, the plants were given light (each its own color) for 12 hours and
left in darkness for 12 hours. The height of each plant was measured in centimeters at the end of each week
for 10 weeks.

Week Number
Light Color 5 6 7 8 10
Yellow 4 5 6 4 8 9 10 11 12 13
Green 4 4 4 3 3 2 2 1 0 0
Blue 4 4 4 5 5 5 5 6 6 6
Purple 4 4 5 5 6 6 7 7 8 8
Red 4 5 6 7 8 9 10 13 12 13

1. What question is testéd by this experiment? : >
Does the aolor of /i"i/ﬂ/‘ aflt ;p/an’f ﬁmWH1

2. Write a hypothesis for this experiment.

If Flarrf's are expo +o differeat color= ofF ‘ffjH',
then Plcm’l“s fh green hﬁH‘ will grow +Hhe leaS‘t
because Plan‘l‘s reflect green lfﬂh‘i",

3. Anindependent variable (also called manipulative variable) is the variable that is changed by the scientist.

In this Experiment, what is the Independent Variable? ’:wacren‘{' CO‘OI‘S o[:‘ l|8|'n"“

4. Adependent variable (also called the responding variable) is the variable being tested and measured in
a scientific experiment.

In this Experiment, what is the Dependent Variable? He‘iﬂh—]— OF‘ ('Pla ﬂ+

5. What are the control variables in this experiment?

- Same type of plant - Same. Size f:PO‘{'_Y
¢ _Same, hClSh‘}— 4o S‘{'Cu’"i— - Same f"‘)/_[:g o .S_OT‘

- Some. light Infensty

« Bme  amourtt of
+me in ligh-/ dlarkias

6. Is there a control group? If not, what control would you suggest?
No — white If:ﬁ}n =

7. Write a conclusion for this experiment.

/P/GmLJ exposeo/ +a yc”ov\/
while fP\arTJS C;(Pojed o green

anol r‘ec! Il\ﬁh”_ Srew ‘I—O‘Hfrﬁ/
lijM’ grew the least,



Identifying Variables and Writing Hypotheses

For each of the problems described below write down:
e The independent variable
e The dependent variable
Control Variables (Provide at least 3)
Hypothesis **Be sure each hypothesis is in the proper “If...,then... , because...” format

1. Jacob wanted to test the projectile motion of a pumpkin. He bought three orange pumpkins and tested them
all on the same day. The pumpkins had a mass of 5 kg, 10 kg and 15 kg. He threw each pumpkin using the
same technique and then measured the distance they travelled.

o Independent Variable: Mass 1 ?\J(YPK-\(_LS
o Dependent Variable: ’D].S‘\'D(-\C(’, _\._\.\ey +ra\.)€ut"04

o Control Variables: Cowmie colde 'P"’mP]C"qS) <ame O\"‘Y; Same Aechni%uf
Hypothesis: TC Kins of differeat masses are +hrown
Hen +Hhe |'|3h+&| (5 K:j] pumplin wuill +ravel farther

becavse +herz s less Gir resistance o +he mpt;q’
2. A dog owner wants to test how exercise affects how his dog sleeps. On day 1, he exercises his dog for 2

hours and then records the amount of sleep the dog experiences that evening. The next day he exercises the
dog for 4 hours and records the amount of sleep experienced by the dog and finally he records the amount
of sleep with 6 hours of exercise. He was careful to give his dog the same amount of food on the days he did
the experiment.

o Independent Variable: Aman‘\' oP exer*ci‘:;c

D dent Variable:
o ependent Variable Amwf\' OC S\CC’P

Control Variables: : > i
’ T Same dOSJSome_ amount— of Cod , Some flyp: of exencic

o Hypothesis: TC o doa s emc] 4o mMore ©xerTise

+hen Hne” dag wil Slccp lo
becase tHhe dHoq wil)l bave usecdl mdre. €nen :
3. Does the amount of butter on the popcorrikernels affect the number of kernels that pop?

o Independent Variable: Armourt ofF Butre—

o Dependent Variable: NU " be ~ ofF lf{r‘hCLT et rFo’D

o Control Variables: <gme <S\z2e baSI Same amouﬁf’ of +me 4o Coo‘rj
Same mMicrowavt

(0]

o Hypothesis:
IF there is mere bute~ on Popcorn,
Yhen  more Kernels wuill D
becavse. +he  buten helps hest —f}—h¢ Kenel.

4. How does drinking juice before bed affect how many hours you sleep?
o Independent Variable: A mowﬂ‘ s% oicd

o Dependent Variable: oo many hours you Skep
o Control Variables: <gme )Dcd, Same 4ype of \')CnCC/ samc Pasmn

o Hypothesis: T\ Yyov dnnl more \‘)Uicc_ bC‘POF(_ ’bCJ

Hren you W slegs lss
because juice contains  sogar,



